Locking Center Console

1976-1995 CJ & Wrangler

PARTS INCLUDED TOOLS NEEDED

Leveling Bracket* 1 each Electric Drill
#8 x 3/4" Philli * 6 h 1161 Dl B =

x 3f illips pan screws eqc 3716 Drill Bif
#14 x 1 3/4" Phillips pan screws J each ' Phillips Screwdriver

* tems not required for CJ5 Owners

1. Place the console hetween the front seats.

2. Move the console as far forward as possible, but make sure that the gear shift clears it in alt of its
gear positions.

FOR CJ5 OWNERS ONLY:

3. Remove the front cup holder and the floor lining from the console . Drill one 3/16" hole through the
consote floor and vehicle floor panel. Secure with one # 14 x 1 3/4" screw. Replace the lining and
cup holder.

4. In the rear compartment of the console, drill two 3/16" holes through the console floor and
through the vehicle fioor panel. Secure with two #14x1 3/4" screws.

FOR OTHER JEEP" OWNERS OTHER THAN CJ5:

3. Raise the rear of the console and place the leveling bracket under the rear of the console with the
legs of the brackets placed on the floor. Adjust the bracket unfil the console is level between the
seats. Mark the position of the leveling bracket on the bottorn of the console and remove the
console and the leveling bracket.

4. Use two #8 x 3/4" Phillips pan screws to install the bracket fo the bottom of the console. Reinstall
the console between the front seats and adjust from front to rear as in step # 2.

5, Mount the leveling bracket to the floor by diiling four holes in the floor with a 1/8" drill bit. Screw
the bracket down using four #8 x 3/4" Phillips pan screws.

6. Remove the front cup holder and the floor fining from the console. Diill two 3/16" holes through the
console floor and vehicle floor panel. Secure with two # 14 x 1 3/4" screws. Replace lining and
cup holder.

Rampage Products
9225 Stellar Court Unit C, CORONA, CA 92883-4919, US A
Phone: 951-277-4949 Fax: 951-277-2295
Part#315xx. Made in China



